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Math Il Writing Exponential Expressions in Equivalent Forms.

For problems 1 and 2, read the following scenario and use the
information in it to answer the questions.

A town's population has increased 35% during the last 8 years and is now

50,100 people.
1. What was the population 8 years ago?
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2. Assuming that the population increased at the same rate each year,
what was the annual rate of increase?
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$10,600 in June 2011.
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4. What was the value of the car in June 20087
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5. What is the predicted value for June 20207

16
Zt500(.95%y) =

$2.L92.82

D
s\u
D

For problems 3 - 5, read the following scenario and use the
information in it to answer the questions.

Yesinia paid $26,500 for a new car in June 2005. The car was worth

3. Assuming a constant annual rate of decrease in value, what was the
annual rate of decrease?
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Math Il Writing Exponential Expressions in Equivalent Forms.

For problems 5-8, use what you've learned about exponential growth
and decay to answer the questions.

5. The Best Service Heating Fuel Company had 1,418 of its customers
signed up to pay their bills online as of May 1, 2012, which represented an
increase of 185% since May 1, 2005. Assuming that the number of sign-
ups increased at the same rate each year, how many Best Service
customers were signed up to pay their bills online as of May 1, 20087
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6. A news paper had 144 800 print subscribers on December 31, 2002. It

had 54,300 print subscribers on December 31, 2012. Assuming a constant

annual rate of decrease, how many print subscribers did the newspaper

have on December 31, 20077 What is the predicted number of print

subscribers on December 31, 20207 t 4
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7. The value of Mr. Cooper’s house on July 1, 1990, was $80,200. The
value on July 1, 2010, was $252,630. Assuming a constant annual rate of
increase, what was the value on July 1, 20057 What is the predicted value

on July 1, 20207 4
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8. Jared is comparing two different investments. One is a bank account that
pays 3.4%annual interest, compounded annually. The other is a loan that
pays 1.25% quarterly interest, compounded quarterly. For each investment,
what is the approximate equivalent monthly rate, compounded monthly?
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For problems 9 and 10, read the following scenario and use the
information in it to answer the questions.

Anjali has money to invest. She is considering two investment options. One
option is to lend money to a start-up software company that will pay 0.4%
monthly interest, compounded monthly. The other option is to deposit
money in a bank account that pays 3.6% annual interest, compounded
annually.

9. For the option of lending to the start-up company, what is the
approximate equivalent annual interest rate, compounded annually?
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10 Suppose Anjali plans to invest $15,000 for 6 years in one of the options.

X ~F What would be the value of her investment under each option? o
gral R G 24
15000 (1 +.0%a1) 15005 (1 ¢.030)

$ladag.2% tigsus. 18

Cr
S—_

Made with Doceri



